Chapter 7 Test
Match the vocabulary term and its definition.

	A.) Exponent
	B.) Prime Number
	C.) Multiples
	D.) Factors
	E.) Divisible

	F.) Radical
	G.) Square Number
	H.) Composite Numbers
	I.) Product
	J.) Exponential Notation

	K.) Base
	L.) Order of Operations
	M.) Prime Factorization
	N.) Perfect Square
	O.) Perfect Cube

	P.) Factor Tree


​​_______1.  An integer greater than 1, with exactly 2 positive factors, 1 and itself.  

_______2.  A number whose square root is a rational number. 
_______3.  An integer greater than 1, with more than two positive factors. 
_______4.  A notation that expresses a number in terms of a base and an exponent. 

_______5.  The order a scientific calculator uses to compute an expression. 
_______6.  The product of an integer multiplied by itself. 
_______7.  A descriptor of a number that can be divided by a given divisor and have no remainder. 

_______8. A hierarchical structure used to represent the prime factors of a number. 

_______9. The result of a rational number that is raised to the third power. 

_______10. The power that tells you how many times the base is multiplied. 

_______11. The result obtained by multiplying two or more numbers or variables. 

_______12. Various values obtained by multiplying a number by whole numbers. 

_______13. Any number x, that is raised a power. 

_______16.
The symbol used to indicate square roots. 
_______17. The process of finding the prime factors of a number. 

_______18. Numbers multiplied together to get a product.  

7.19.
Explain the difference between a multiple and a factor. Give an example of each.
7.20
How many positive factors does 21 have?


a.  2


b.  3


c.  4


d.  6

7.21.
How many factors do 12 and 24 have in common?


a. 0


b. 2


c. 4


d. 6
In each of the following problems, the value of n and d are given.  Determine whether d is a factor of n.  If it is, what is the other factor?  Justify your answer.  
SHOW YOUR WORK!
7.22.  n = 200, d = 12

_______________________

     7.23.  n = 212, d = 5   

______________________


7.24.  n = 306, d = 9
            ___________________

     7.25.  n = 5088, d = 24 

__________________
When answering the following questions, be sure to show all of your work to prove your answer.

7.26.  What is the least multiple of 9 that is greater than 57?  
_____________

7.27.  What is the least multiple of 7 that is greater than 65?          ____________
     7.28.  What is the least multiple of 4 that is greater than 27?  __________

     7.29. What is the least multiple of 16 that is greater than 300?  __________

     7.30. What is the smallest factor of 202 that is greater than 100? __________

     7.31. What is the smallest factor of 56 that is greater than 20? _________

    7.32. Explain the difference between prime and composite numbers.
Determine whether the following numbers are prime or composite.  If the number is composite, name a factor other than 1 and itself.

7.33.   291 _________________

7.34.  103  ___________________

7.35.   231 ________________

7.36.  1001 ___________________

7.37.   71 __________________

7.38.  143 ___________________

7.39.
Name the prime numbers between 20 and 35. __________________
7.40.
Name all the prime numbers between 5 and 15. ___________________

7.41.
How many prime numbers are there between 20 and 35?



a. 0

b. 1

c. 3

d. 5

     7.42.
Which of the following statements is true?

a) 121 is a composite number

b) 121 is a prime number

c) 121 is a factor of 232

d) none of these are true

     7.43.
Find the prime factors of 165.



a.  3 and 5
 
b.  3 and 11

c.  11

d.  3, 5, and 11
Compare the following using < or > or =:

   7.44.   
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   7.45.
   23●26 ____  (23)6
   7.46.
   (-1)4 ____  (-1)235
   7.47.    70 _____  (-1)6
    7.48.   Determine which symbol is most appropriate between the following numbers:


  92             63


a)  (             b)  (  
   c)  (      
d)  (
    7.49.    Determine which is greater: 120,  53  , 35  or  44

a. 120

b. 53

c. 35

d. 44
    7.50.     If 34 cookies are divided evenly between 3 people, how many cookies will each person 

     receive?


a.  9

b.  21

c.  27

d.  33
Find the prime factorization of the following numbers, using exponents when there are repeated prime factors. 

7.51.  72   ____ ____________


7.52.  135   __________________

7.53.  56   _________________


7.54.  455   ________________

7.55.  210   ___________

            
7.56.   420   _____________

7.57.  312   ___________



7.58.   1234   ________________

7.59.
Which of the following is equivalent to 48?


a) 23 ( 3
  b) 24 ( 3
c) 42 ( 6
  d) 23 ( 32
7.60.
How many factors does 25 have?


a.  5


b.  6


c.  7


d.  1

7.61.
How many factors does 210 have?


a. 9


b. 10


c. 11


d. 12

7.62.
How many factors does 7 ( 13 have?


Answer: _________________________

7.63.
If p and q are prime numbers, how many factors does p ( q have?


Answer: _________________________

7.64.
How many prime numbers divide the number 32 ( 11?


a. 0


b. 1


c. 2


d. 5
Write the following using exponents.
7. 65.  
2 ( 2 ( 2 ( 3 ( 3 ( 7 ( 7 =  __________________     

 7.66.
3 ( 3 ( 5 ( 5 ( 5 =  __________________     
Write the following in expanded form.
 7.67.  
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 7.68.
32 (32) = __________________
 7.69.
25 (23) = __________________

 7.70.
(53)2 = _________________

 7.71.
(23)4 = __________________
7.72.
Compute the following:  40 ( 23

a.  0


b.  32


c.  512


d.  8
Evaluate.

7.73.   
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  =  __________



7.74.  
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  =  _____________

7.75.  Find the value of 
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a) 9


b) 11


c) 13


d) 15

7.76.  Which of the following list of numbers are perfect squares?   _______________________

9, 13, 24, 64, 125, 141
Find the value of the expressions.

7.77. 
8 – 5 – 7 = _________________

         7.78.    2 – 4 + 7 = ________________

7.79.
4 + 22 ( (7 – 9)
= _________________
         7. 80.  
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 = _______________

7.81.
12 – 2(3 + 5) = _________________
         7.82.    42 + 3(8 – 6) = ______________
7.83.
Compute the following:

6 – 32 ( (5 – 8)


a. -19


b.  33


c.  -27


d.  9

7.84.  
At the corner store, they sell a cherry popsicle for $1.19, a root beer for $0.65 and a bag of 

chips for $1.20. If Bill has only nickels in his piggy bank, which of these items can he purchase with exact change?


a) only the popsicle


c) the root beer and bag of chips

b) only the root beer


d) the popsicle and the bag of chips

7.85.
Mrs. Murray wants to make a flag out of pink, blue and green felt.  She has 24 inches of pink felt, 36 inches of blue felt and 48 inches of green felt and wants to cut each piece into the strips that are the same length so that there is no felt left over. Which of the following is a possible length she can cut each piece?


a. 12 in.

b. 16 in.

c. 18 in.


d. 8 in.

7.86.
Which of the following is equivalent to 34 ( 32 ( 33?


a) 38


b) 39


c) 318


d) 324
7.88.   Which of the following list of numbers are perfect squares?  Circle them.


4         13          25          69           81        111
7.89.
Factor each of the following numbers:


a. 630 = ________________________________


b. 63,000,000 = ___________________________________

7.90.
Complete the chart by explaining the divisibility rules.

	A number is divisible by:
	IF

	2
	

	3
	

	4
	

	5
	

	6
	

	8
	

	9
	

	10
	


7.91
If p is a multiple of 3, which is also a multiple of 3?

a. p + 1

b. p + 2

c. p + 3

d. p + 4

7.92
If p is four times x, determine which of the following is also a multiple of x?

a. p + x


b. p + 1


c. x + 1


d. p + x + 1

7.93
If b is a multiple of a and d is a multiple of c, then which of the following is guaranteed to 
be a multiple of a ( c?

a. b + d


b. c + d


c. b ( d


d. c ( d
7.94
The model below is a square with an area of 121 square units.

                                                                       [image: image8.emf]
Which of these equations can be used to determine s, the side length of this model in units?

A   s =
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121


B   s = 1111

C   s = 121

D   s = 
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7.95
The model below can be used to represent the area of a square with a side length of 
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 units.

                                        [image: image12.emf]
What is another way to represent the side length of this square?

A   64

B   
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C   
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D   4

7.96
Which models of squares can be used to show
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?

A   4 rows of 9 squares

B   3 rows of 12 squares

C   6 rows of 6 squares

D   4 rows of 8 squares
7.97
What is the value of the expression below?

                             52(3 − 4 × 2)

A  -50 

B    125
C   50

D   -125
7.98
What is the value of the expression below?

                             82 +10 ÷ 2 × 3

Record your answer and fill in the bubbles on your answer document.  Be sure to use the correct place value. 
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7.99
 What is the value of 4(9 – 2) ÷ 2² + 3?

A  5

            B  10
            C  8

            D  4
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